(&

N
i
(

(1°

[

|
[
77

A
=28

INOVYS 2 EVO BACK FRAME

1/2

Plan No.

E00035138/D.1

Scale: 1:5 Drafted Verified Confirmed
Date 20/04/2022 05/09/2022 05/09/2022
Initials MK DR AZ




Material

No. Plan Article Quantity
1 M8 Nut DIN985 Black | 2994009 2
2 X001052 G066654 2
3 Vasher M8 DIN126 Black 1996214 2
4 X003646 1999963 2
5 X004833 1745099 4
6 X004832 1744999 4
7 X004822 1744799 2
8 X004823 1744899 2
9 X004861 1906454 2
10 Y004353 FO00411 2
11 Y017806 1756254 (40) 1
Y017651 1756054 (45) 1
Y017807 1756354 (50) 1
YP06467 2734754 (35) 1
12 Y018198 1765462 (40) 1
Y018199 1765562 (45) 1
Y018200 1765662 (50) 1
YP06468 2734862 (35) 1
13 Star Knob M8x20 1001580 2
14 Washer M8 PAG Black| 1918718 2
15 3,9x16 DIN7982 3994497 4
16 M6x25 ISO7380 Black | 2994062 2
|17 M6x25 DIN912 Black | 2996887 4
18 Star Knob M6x20 1009932 2
19 Cap @22 1990648 4
20 Pin D8x40 1992510 1
21 X005513 1992600 2
22 1996806 2
23 M6x16 DIN7991 Black| 2994064 4
24 M8x20 ISO7380 Black | 1915944 2
25 L34 2995481 (35) 1
L34 2995482 (40) 1
L34 2995483 (45) 1
L34 2995484 (50) 1

INOVYS 2 EVO BACK FRAME

2/2

Plan No.

E00035138/D.1

(40 - 45 - 50 - 35 = Seat width)

Scale:

Drafted

Verified

Confirmed

Date

20/04/2022

05/09/2022

05/09/2022

Initials

MK

DR

AZ

VERMEIREN
Q00




